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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

3000 A
./H/'\'/. —@— Eco

2500 4 kk\’*‘*

2000 -

1500

Warning: col ['FVOEC'] is missing

1000 ~




Plot

[[PHC:b—o', 'FVIPH:r-o’, 'PHl:g—o' 1]

Warning: col [’

IPH'] is

—@— PHC
—&— PHI

10

20

25

30




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP4 0
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2it]1449.0 (9%) 810.0 32 PUFHKEC: 2307.0, PH: 6.2




P4 0, Day=27 (2025-05-01)

804 VI, VBIERV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 920 90854 100
60 L 750
504
40 - 18 - 500
20 136 - 250
40 Warning: lcol [FVI',| "FVO’'] missing
O_
100 4
£ 754
©
ey
— 50+
E
=z 25 =
[
1.0 26
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
TargetEC=2600. 0,  TargetSetEC=2307. 0 > ECB*10% [+
2400 o ECC
------------------------- Sy S g
2200
2000 1 e o o ® o o
o ® o
1800 ®
TargetPH=6.5, TargetSetPH=6.2 @ —¢—  PHBx10% f
® L ® PHC
6.5 o O () ® o o { ]
------------------------- NN H——H———H——H ~ mmmm e m et
6.0
1
— ByInit @D31 93:10: ET=953 Fg=990.0 Ro=35.0 1500
£ 200 - !
()]
= 1
e I $—8 | 1000
; |
= 100 A i
~ 1 - 500
— 1
Ll 1
' . 1
0 pb—a 2 2' — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
— HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES 1 500
_E, 200 B B B B B B B B B B B B B B B B B B Fll B B B B B
= ByEt @D27 18:41: ET=1019 Eg=900. 0 Ro=nan I
S 1 - 1000
= 100 A i
~ : - 500
o |
e —e—e—e o Dol :
10 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 1500
D 200 B | B | B | B | KB|KB|BI|Z2=|2=2525] B 5 5 i 5 5 IR EREEREEEAEEEERES
c 1
= ByWoFv @D31 03:10: ET=854 Fg=810.0 Ro=23.0
T | o—o—o—o [ 1000
< 1 L = & ©
= 100 - i
~ 1 - 500
— 1
Ll 1
' . 1
1.0 Pt 2 2' _ e— 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0osl B | B |iE [ |B|®B|B[ZZ|ZE|25|%57| B 5 5 i 5 5 R EREEREEEAEEEERES
0.6 -
0.4 1
0.2 A
0.0
1500 4 —_ u
[ ] | _obs
1000 - —@— PPFD obs
500 -
0
25 1 _ T 4
o T obs
20 - o To_obs
15
10 g™
5

80 -

60

40 -

RH
[ ] RH_obs
(] RHo_obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



29.

29.

29.

29.

31.

31.

30.

30.

30.

17.

16.

16.

16.

16.

16.

16.

32 -

31

30 -

29 -

28 -

M_E

400

660 760 860
m=600,n FV0=0

T
500

900

—o— M_E

665 6%0
m=805,n FV0=0

T —o

M_E

8%0 8%5
m=440,n FV0=0

805

1T —e— mw

N

-
i

440 445 450

217.

27.

27.

217.

27.

217.

27.

30.

29.

29.

29.

29.

29.

29.

31.

31.

31.

30.

30.

m=440, FV0=0

60

55 A

50 -

45 A

40 -

35

30

M_E

2 .

T T
440 445 450

m=655,m FV0=0

1 o

M_E

i

T T
655 660 665

m=870,m FV0=0

—o— ME

8%5 8é0
m=495,n FV0=0

870

22

21 -

20

19 +

18

-— MW

495 500 505

28.

28.

28.

28.

28.

28.

30.

30.

30.

30.

29.

29.

29.

32.

31.

31.

31.

31.

31.

m=495, FV0=0

M_E

560 565
m=710,m FV0=0

T T
710 715 720

m=925,m FV0=0

—o— M_E

]

950 Qé5
m=545,n FV0=0

925

26 -

25 A

24 ~

23 A

22 -

21 -

- MW

545 550 555

29.

29.

29.

28.

28.

28.

28.

30.

30.

30.

30.

30.

m=545, FV0=0

M_E

5%0 565
m=760,n FV0=0

28

26

24

22 -

20 -

18

16

500

600 700 800 900

m=600,m FV0=0

27 A

26 -

25 A

24 A

23 -

22 -

- MW

600

605 610




m=695, FV0=0

28

26 -

24

22 A

—0—

M_W

T
655

T T
660 665

m=870,m FV0=0

28 -

26

24

22 A

—0—

M_W

T
870

T
875 880

m=710, FV0=0
28 1 —— MW
26
24
22 4
T T T
710 715 720
m=925,m FV0=0
—— MW
28 -
26
24
22 4
T T
925 930 935

m=760, FV0=0
—— MW

28 A
26
24 -
22 -

T T T

760 765 770

m=805, FV0=0
—— MW
28 -
26 -
24
22
805 810 815




